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Calcular diez mas y diez menos (numeérico)

Nombre;

Complete los espacios en blanco para cada problema.

8+10=_ 41+10=_
84+10= 71+10=
89+10=_ 5+10=
8%+10=_ 3+10=_
14+10=__ 46+10=_
81+10=_ 26+10=_
3+10=_ 60+10=_
63+10= 13+10=_
o+10=__ 3%+10=_
2+10=_ 67+10=__
24+10=_ 57+10=
43+10= 40+10=_
1+10= 88-10=_
20-10=_ 25-10=_
16-10=_ 98-10=_
90-10=_ 37r-10=_
32-10=_ 44-10=
58-10=_ 66-10=_
49-10= 74-10=__
52-10=_ 60-10=_
62-10=_ 85-10=_
71-10=_ 59-10=_
82-10= 61-10=
63-10= 38-10=_
84-10=_ 21-10=
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Calcular diez mas y diez menos (numeérico)

Nombre: Clave De Respuestas

Complete los espacios en blanco para cada problema.

8+10= 18

84+10= 94
89+10= 99
85+10= 95
14+10= 24
8l1+10= 91
3+10=_ 13

63+10= 73
0+10=_ 10
2+10= 12

24+10= 34
43+10= 53
1+10= 11

20-10=_ 10
16-10= 6

90-10= 80
32-10= 22
58-10= 48
49-10= 39
52-10= 42
62-10= 52
71-10= 61
82-10= 72
63-10= 53
84-10= 74

41+ 10=
71+10=
55+10=
73+10=
46+ 10 =
26+ 10=
60+ 10 =
13+ 10=
35+10=
67+ 10=
57+ 10=
40+ 10 =
88-10=
25-10=
98-10=
37-10=
44-10=
66 - 10 =
74-10=
60- 10 =
85-10=
59-10=
61-10=
38-10=
21-10=
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